NISUS3N

D E S I G N I N G Y O U R R A C E P A R T S

Inside the box you will find:

A: 4 x M8 allen bolt + washer

B: 4 x M8 allen bolt + washer + nut M

C: 4 x M8 hexagonal bolt + washers + nut  (onywinsiders)

D: 1 x M10 hexagonal bolt + washers + nut

E: 2 x Specific seat brackets Alfa romeo 4C /

F: 2 x Lateral seat support
G: 1 x Sparco sliders  (ny witn siigers)
H: 4 x Countersunk screw

ALFA ROMEO 4C SEAT BRACKETS
MOUNTING INSTRUCTIONS

.| Join the specific seat brackets (E) to
the Sparco sliders (G) using part B.

2 Join the lateral seat supports (F) to the
Sparco sliders (G) using C.

3 Bolt the joined parts to the seat
using A.
IMPORTANT
You should to adjust the distance
between specific seat brackets (E) in
328mm and adjust the handle if it's
necessary.

4 Bolt the stock seat belt anchor to the
seat belt anchor mounting point in the
lateral seat support (F) using part D.

5 Finally, bolt your seat in your car using
part H.

NOTE: If you don't have sliders (G) you only
should to join the parts E and F using part B and
continue the following steps.

info@nisuba.com
Www.nisuba.com



